
SERIES : A 27

2- yqEckMhZ dk mitkÅ eSnku mÙkjh vesfjdk
egk}hi esa ik;k tkrk gSA

mi;ZqDr esa dkSu&lk@ls dFku lR; gS@gSa \

(a) dsoy 1 (b) dsoy 2

(c) 1 rFkk 2 nksuksa (d) u rks 1 u gh 2

124. lhje gS ,d&

(a) iQkbfczukstu lfgr IykTek

(b) iQkbfczukstu jfgr IykTek
(c) FkzkfEcu jfgr IykTek
(d) FkzkfEcu lfgr IYkkTek

125. xkaèkh 'kkfUr vUrjkZ"Vªh; iqjLdkj dh 'kq#vkr
Hkkjr ljdkj }kjk dc dh xbZ µ

(a) 1972 (b) 1963

(c) 1991 (d) 1995

126. :nznkeu ds twukx<+ vfHkys[k ls if'peh Hkkjr
ij fdl ,d 'kkld ds 'kklu dk izek.k izkIr
gksrk gS\

(a) v'kksd ds

(b) LdUnxqIr dk

(c) pUnzxqIr ekS;Z dk

(d) leqnzxqIr dk

127. fuEufyf[kr ;qXeksa ij fopkj dhft,&

(vkS|ksfxd dsUnz) (m|ksx)

1- D;wcSd µ tyiksr fuekZ.k

2- MkVZeaM µ jlk;u

3- fyojiwy µ tyiksr fuekZ.k

mijksDr esa ls dkSu&lk@ls lgh lqesfyr gS@gSa \

(a) 1 rFkk 2 (b) 1 rFkk 3

(c) 2 rFkk 3 (d) mijksDr lHkh

128. Hkkjrh; lafoèkku esa fofHkUu jkT;ksa ls lEcfUèkr
fof'k"V izkoèkku dk mYys[k gS&

2. Fertile land of Lumbardi is found in
North American Continent.

Correct statements from the above is/are:

(a) Only 1 (b) Only 2

(c) 1 and 2 Both (d) Neither 1 nor 2

124.Serum is a  :

(a) Plasma with Fibrinogen

(b) Plasma without Fibrinogen

(c) Plasma without Thrombin

(d) Plasma with Thrombin

125. In which year International Gandhi Peace
Prize was started by Indian Government :

(a) 1972 (b) 1963

(c) 1991 (d) 1995

126. The evidence of rule of which ruler on
Western India is found from the Junagarh
Inscriptions of Rudradaman ?

(a) Ashoka

(b) Skandagupta

(c) Chandragupta Maurya

(d) Samudragupta

127.Consider the following pairs :

(Industrial Centre) (Industry)
1. Québec – Ship Manufacturing

2. Dartmond – Chemical

3. Liverpool – Ship Manufacturing

Which of the above is/are correctly
matched ?

(a) 1 and 2 (b) 1 and 3

(c) 2 and 3 (d) All of the above

128.The specific provisions related to various
states are mentioned in Indian
Constitution in  :


